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Please sigh and return the paper the next day. Any queries
shauid ba raised at tha same time when remming paper.

Guestions 1 to 3 carry 2 marks gach. Foreach question, fouroptions are giver.
One of them is the cormect answer.. Make your choice (1, 2, '3 or 4) and write
your aniswer {1, 2, 3 or 4) in the bracket { ) provided.

(6 marks)
1.  The digit 5 of 3 number Is in the hundreds place.
Which orie of the following is the riumbei?
(1y 1385
(2) 8851
@ 5813
{4) 8531
{ }
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What is 1000 more than 56887

(1
@)
&)
(4

There were 4 cards as shown below,

4689

5589

5789

86349

Janice picked 2 of the cards.
The difference betwsen the numbers on the 2 cards was 3000.
Which 2 cards did she pick?

8564 3564 5564 5264
Card A Card B Card C Card D
{1} AandB
(2) AandC
(3 BandD
(4 CandD
(
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Questions 4 1o 8 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers In the unifs stated. (10 marks)

4. Write the following in numerals.

{a} Nine thousand, seven hundred and tweive

(b} Four thousand, six hundred and four

5. | am a 4-digit even number formed with the digits 2, 4, 5 and 8.
| am a2 number between 2600 and 2900.
What number am {?

Ans:

6. Look at the number pattern below.

, 4181, 4481, 4781, 5081, 5381

What is the missing number?

ANs:
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Jane had 1352 marbles.
Siti had 1515 marbles more than Jane.
How many marbles did Jane and Siti have altogether?

Ans:

Jenny wants to buy lunch from a food count.

She plans to buy a meal that includes 1 main dish, 1 soup and 1 drink.

Menu
Main dish Soup Drink
Nasi lemak Chicken soup Tea
Fried noodles Vegetable soup Coffee

How many different ways can Jenny buy her lunch?

Ans:
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For question 9, show your working clearly and write your answers in the spaces
provided. The number of marks available is shown in brackets [ ] at the end of

each question or par-question, (4 marks)

9. There were 3390 people at the Singapore Zoo on Friday.
1800 of them were adults.

(a) How many children were there at the Singapore Zoo?

{b) There were 685 fewer people at the Singapore Zoo on Friday than
Saturday. How many people were there on Saturday?

(b) [2)

End of Paper
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(b} 4604
3881

[ 1852x2+1515=4219

sl a3 oo gy 8
g Jamd & i g 2

e 3 gt i

8

i g 300

¥l pouiich ehighiey sy el L
gt Ak g e
Eaaduthgie salsl |

“{a) 3350-1900=1450
{b) 3850+685=4075
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